_ WEYMOUTH

COILLEGLE

1) The function f is defined by

fix > Sx+1 - 3 x>1.

X2 4x—2 x+2°

(a) Show that f(x) = L , x>1.
x-1
(4)
(b) Find f73(x).

(3)
The function g is defined by

g xH—>x*+5 xelR.
(b) Solve fg(x) = % .

(3)

2) The functions f and g are defined by

fix—>1-2¢, xelR.
3
g:x—> — -4, x>0, xeR.
X

(a) Find the inverse function f 2.
(2)

(b) Show that the composite function gf is

fix— 8x° -1
g 1-2x%

(4)

(c) Solve gf (x) =0.
(2)

7. The function f is defined by
3(x+1
f:x— z(x ) - : s JCE]IR,I>l
2x"+7x—4 x+4 2
|
(a) Show that f(x)= ST
X— (4)
(b) Find f"(x}
3

(c) Find the domain of '
(D



